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1A1742-294-JEMX2-MJID52890.786987_lc.txt / MJD 52890.787002 / burstid=4427

g Grey line: exponential fit Peak flux: 1.931+/- 0.808 c/s/cm? g
- Black Iing: power law + gauss fit Fluehce : 19.87+/- 6.03 c/cm? -
- Dashed line: power law . !
= Durgtion: 22.99+/- 8.21s =
= Best|fit model: 1. .
- Best fluence model; 1. 7
- Best duration model: 1 3
= ‘ E
- l Jd 7
= {

\ W ALk
= H ‘\ } H\MM } “‘ } = ‘\ } ‘ ‘\ | \\ H “”H | “\ ‘ \H \H\ | | | ‘ | MT M‘ ‘\ ‘_H H I \‘ ‘ M H R
- W ‘H | W W I H WH I WHHHWW ‘ ‘N u MH‘H WM W i
; Exponential fit é
= Expon.time: 3.90+/- 1.40 s (chi*red= 1.09) =
SRR B Wt St DLt bl b b ;
= ﬁﬁw*ﬁﬂ*ﬁw b fﬁﬂw HH*HHWH* WMWﬂmwﬁmﬂww il A Ww ﬁWﬁHﬂwﬁ Wil ﬁNmﬁﬁﬂwHigzﬁ
; Power law fit é
E Power law index: -4.395+/- 1.449 (chi*-red= 1.09) =
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—  Power law fit plus Gaussian (st.dev.= 66.94+/-21.26 s, fracgs= 0.04+/- 0.19) =
- Power law index: -3.451+/- 3.255 (chi*-red= 1.10) 3
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